SHTERBAE
B0 R (i R U BT B — B

AR L R 1 18] BB b 158 Hi B2 5y th 15 U SR AR



o F0 7T il 5 F B A AR E AR R U BT F K &)

CEEMBSOREIC * IARFENTOHREMIT, i A TIREMEDO R B R

-REMOMFIZH JTERRT

o
ET X4
P ad

T Eith
5 = 5 = . HTR(= — ERI0E RATE | gemnmmpo
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FFL(E)-1 MPLmEEECE 99,100 99,100 0.0
FFRL(E)-2 LTSRS TE144%13M18E5—5—43] 79,600 79,200 -0.5
FFL(E)-3 MFLUTERFEFH262%6 70,700 70,700 0.0
FFL(E)-4 AMFLTIMEFHEEE615%1004+ 41,100 40,700 -1.0
FFL(E)-5 MIUTHREEDIT 275 108,000 109,000 0.9
FFRL(E)-6 MIFUT=EFH15664%F13 56,400 56,100 -0.5
FMILE)-7* [Tt KAFH/BE152% 131,000 132,000 0.8
FFL(E)-8 MFLUHTEFEE/1F181F27 49,200 48,500 -1.4
FFL(E)-9 FIUTFEE2TH354%28/F7H2—2—18] 90,500 90,500 0.0
FILE)-10 MFLTBEFNIM1360%F16 40,900 40,500 -1.0
FOFRL(E)-11 LT E1 TES3%F10lF1—3—3] 111,000 112,000 0.9
FIRL(E)-12 MIUTFE1TEHI7H15MdtHhE1—9—44] 74,000 73,400 -0.8
FFL(E)-13 MPUTFARFREA831F77 45500 45,300 -04
FILE)-14 IS FEETS)IA/1E1424 5645 43,600 42,700 -2.1
FFL(E)-15 MFLUT R/ AFE/A1450%50 28,400 28,600 0.7
FFL(E)-16 LT TIEATE 116759 IHR4—7—37] 50,100 49,700 -0.8
FFL(E)-17 LT AESN2TE125813[ESM2—11—31] 134,000 134,000 0.0
FIRL(E)-18 LT FEEFEFE/IF1063%45 72,200 71,100 -15
FFL(E)-19 LT IZCEEITHS595F 23 HITUAE3 —2—23] 63,700 62,400 -20
FOFRL(E)-20 MPUTEHEFRE1E2 25,000 24,800 -0.8
LR )-21 MILTERFE/K229F 104} 64,600 64,600 0.0
FFL(E)-22 U P FHIEA583F41 76,400 76,600 0.3
FFRL(E)-23 IR A EH93FE32 70,400 70,400 0.0
FFRL(IE)-24 MIUTHEBRF 12473% 26,000 25,700 -1.2 [ IE—aLAIZES
FMIL(E)-25*%  |fiFLthFEREA2T H38% 121,000 122,000 0.8
FFL(E)-26 AP 2 EFHIEN1897F5 102,000 102,000 0.0
FFL(E)-27 LT ERFIEA135%35 65,000 63,500 -23
FFL(E)-28 LW E4ATE6F10/MRE4—2—36] 194,000 194,000 0.0 [FEihm e Mgt =
FIFRLI(E)-29 ML/ MAE6 TESE67/MABE6—6—7 91,000 91,000 0.0
MILE)-30*x [T HFTEEH4I5E12 48 500 48,100 -0.8
LR )-31 ML B EF /2615 20,400 20,200 -1.0
ERER)-1 BETEIFEIL1E60 59,200 58,500 -1.2
EE(E)-2 ERETEAFEHE1272%63 59,200 57,700 -25
EREUR)-3 B T FETEC7E 27,900 27,400 -1.8
EE(E)-4 BRETE ST RE369%1 39,100 38,100 -26
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EE(R)-5 BETHRATE S 1546%3 36,600 36,500 -0.3
ERE(R)-6 BEHHATAIF153%4 55,900 55,200 -1.3
EEE)-7 EETREFHEE/£352%F1 17,500 17,200 -1.7
EEUR)-8 EET N R ETM128%4 46,000 44 800 -2.6
BARE)-1 BATBEHTHEFH322%4 28,400 28,000 1.4
BARUR)-2 BATRAEFHEIL693E12 33,700 33,300 -1.2
BARIR)-3 BATNMNES1THEH19%17 32,700 32,100 -1.8
BARUR)-4 BATSHORKEF E5111824F 12 24,000 23,700 -1.3
BARIR)-5 BAT=AA3THOE?2 67,800 67,600 -0.3
BARUR)-6 BATSHONEh EFME823%3 28,900 28,500 -1.4
BARR)-7 BATEEISFAS#E904%19 31,300 30,600 -22
BARUR)-8 BATEEFT2296%1 14,800 14,600 -1.4
HHE)-1 AHETHEFDH57451 39,000 38,800 -05 [T 1lF—mLAIZES
HHEE)-2 AETAHAIPEFT FSH346%4 28,100 27,600 -1.8
HH(E)-3 AHTEREEIEFH E29E5 32,900 32,200 -2.1
HHAR)-4 HEHBFEE793%46 28,900 27,900 -35
LA (E)-1 2 ARG EFEIE157685 23,500 23,100 -1.7
LA (E)-2 eI BT B S = 2 H 504 % 15+ 34,300 33,600 -2.0
fEILE(E)-3 H e ER LB R FIE636%E4 27,700 27,200 -1.8
(R )-4 A S AT E284%10 29,900 29,400 -1.7
3 (8)-1 HBmEIL2TE826%&88HIL2—21—18] 58,500 59,000 0.9
HiI(8)-2 B ERiEFHh{1989%18 51,200 51,000 -0.4
HA(8)-3 AOhHeR¥2TH3981&54H¥2—6—18] 50,000 50,000 0.0
HA(E)-4 AT tEH2TH116&32I LE#2—11—52] 49,800 49,500 -0.6
HI(8)-5 B+ T E65% — 7,840 -[RIEBEE
HA(E)-6 Hlh R EEF o478 8,190 8,150 -0.5
HO(8)-7 * BTG 1125%64 B H2—6] 107,000 108,000 0.9
HiI(8)-8 HOms) | FTH519%13 18,500 18,200 -1.6
HO(8)-9 AP ESEFIEZN1757F 18,000 17,800 -1.1
HiA(E)-10 D 0 R ET S 4 ) || F 338 %3 17,200 16,900 -1.7
H(8)-11 T AEIKIEFTAE102154 10,400 10,100 -29
FE(R)-1 FEdHE2TE1E11hE2—1—10] 50,000 49,500 -10
FE(R)-2 FETEA2TH3939F10/84A/2—12—19] 43,400 43,000 -0.9
F=E(E)-3 FETEB1TE139%& 25 {£851—-6—17 42,600 42,100 -1.2
FE(E)-4 FEmHEFHRL4643F74 46,500 46,500 0.0
FE(E)-5 e IFARETHN/H972%3 5,450 5,350 -1.8
FLDJIE)-1 ROJIHESNF/ OFH /1826152 17,400 17,200 -1.1
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HDJIE)-2 BT P=AFAEABT89E 14 18,900 18,600 -1.6
L D)IR)-3 RONHEHEEER2%E30 30,200 30,000 —0.7
LDIIE)-4 oI EESFE)I353%40 27,200 27,000 -0.7
L DJ)I(R)-5 #Eo)ITkILETA B Fib £/ &832%3 20,500 20,100 -2.0
FLDJNIER)-6 RoNTESIARLFEFA277%758 25,300 25,100 -0.8
LDINE)-7 Lo)FHLEFNEE106F 15 15,300 15,100 -1.3
LDIIE)-8 LI HBAIFE EITH1379%16 27,400 27,200 -0.7
LDJNIE)-9 o) EEHFRE501855 23,100 22,900 0.9 [[RIFFI+TXITEIDERKF)
H£DJIE)-10 RONTHEEEBTE/H27182 19,600 19,400 -1.0
HDJIE)-11 RN HHILRTER AT RS E312% 16,900 16,600 -1.8
EHIR)-1 EHTHILEFRERO52%65 25,200 24,700 -20
EHE)-2 AEHTEERFRE/E179%1 24,300 23,700 -25
SHR)-3 EHHTHEHFE/ £221%19 41,500 41,500 0.0
EHE)-4 EHTPEFEHIN446548 46,500 46,500 0.0
SHR)-5 Bl HEKFEILF285%10 47,800 47,600 -04
EHUE)-6 AT EFNEF43F26 40,500 40,300 -0.5
HLEHE)-1 BEAEBR/ AT ATEI395E1 6,170 6,140 -0.5
HEFE)-2 BE R EGATEHETIEN200ER 12,700 12,500 -1.6
EHE)-3 EECEGR FiEA T LPE463%3 19,500 18,800 -3.6
M OLE(R)-1 FEHRBHOSEMAFNEF H/E160E31 34,200 33,500 -2.0
MNOLE(RE)-2 |EHBHOSEMAFT T /AT EERA768%F17 30,900 30,400 -1.6
MOLE(R)-3 |[BHBIr OO ATEHAETAIH446%13 20,300 20,100 -1.0
MOLE(R)-4 [FHBHI LR AFEERETER/IE604E 4,280 4250 -0.7
NE (R )1 BHRBAELAFTAELFTHEIL663F 25} 21,000 20,900 -0.5
NE ()2 FEBBAEILAIKFEABFED /58751 22,200 21,400 -3.6
NEW(E)-3 RN EE IR KF FERFHIS09%3 18,700 18,300 -2.1
= E)-1 FHBEHFAFESHFILFEEAS07ES 31,700 30,800 -28
SE(E)-2 PR ENATEBLFTFFERA44FI5K 27,900 26,900 -3.6
(R )1 ARG EMKFE S EF=/H1766%3 36,600 35,500 -30
HZiE(E)-2 FHEBEEMAKFERFARAS549%7 39,700 39,100 -15
ZiE(8)-3 FHREBEEMAFILAFES /810512 31,000 30,800 -0.6
IEIN(R)-1 HEMEIETAFEER/M1214F1 22,000 21,300 -3.2
EINE)-2 AEBGIRIAFUAFTRAREI41E 19,600 19,600 0.0
IEII(E)-3 HEMGIBMAF T EAFERE743%3 16,400 16,200 -1.2
HRIJIIE)-1 AEBERIBAFFEBFPE1720%2 35,300 34,300 -238
HAIJIE)-2 FHBER)IBTAFKRFIEN1145%6 56,200 56,200 0.0
HRIJIE)-3 AHEBERIIFTAFZRAFHILZ9FE2 11,800 11,500 -25
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HRIIE)-4 AEBERIIBAFHIGFTE158% 30,800 29,800 -3.2
HHJIR)-5 HEBEBRIIFIAFREFFH#H239F 19,800 19,700 -0.5
EERE)-1 HEMBEEMAFINEF=IEN1589%3 19,400 19,100 -1.5
EEME)-2 HEMEEMAFSTRFRAS47F144 30,100 29,500 -20
ER(E)-3 AEHEERIAT=EFH/E884FH 14,800 14,400 -2.7
HE(&E)-1 HEEHAS AT HFEMRISIE 12,000 11,700 -25
HE(8)-2 BEESRIAFEFAFRZA635F25 19,700 19,400 -1.5
HE(E)-3 HaBEEM AT SR FTHE/A620%4 27,700 27,400 —1.1
HEE)-1 HEMEEMAFRAKFRE201%F13 23,900 23,400 -2.1
HER)-2 HEE B AFRAFRIFO10F12 - 19,000 -[RIEBEE
HE(E)-3 BB BERAFEKEFAIAIF767%2 19,000 18,600 -2.1
ENmEa (R )-1 AEE MmN AT ESHFIEMAILEI084% 20,800 20,400 -1.9
ENEE(R)-2 BEHMENAFLOFRE /813185 16,900 16,600 -1.8
ENE(E)-3 HE BT AT/ BEFiEM264% 6,550 6,510 -0.6
FIEAR(E)-1 HERALGARTRARTAIL2045% 12,700 12,600 -0.8
AIER(E)-2 HEMAHERARFE 548385 24,800 24,500 -1.2
FHIEA(E)-3 HEERALGABERTER156%F 34,000 33,600 -1.2
AIENR(R)-4 HEMAHERBAAEREFATE1271F24 28,100 27,300 -2.8
HEJII(E)-1 BB SR KFE/MEEFEEF2357%9 24,600 24,300 -1.2
BHEJI(E)-2 BEEAEIRXEIIIFREEN1652%F145 8,130 8,000 -1.6
HEJII(E)-3 HEMESIRAFIIEATE/ E31915 9,260 9,120 -15
BEJI(E)-4 HEHEEITAFIRE)IFAEN344F 15 6,940 6,840 -14
BE(R)-1 FAEEMAERTEF/MNL243F 114} 28,300 28,000 -1.1
BE(E)-2 FEEEERT /3143851 32,700 32,300 -1.2
BE(E)-3 BAEEMEERMABF FE/INKS60E 14,200 14,000 1.4
HE(R)-4 A E A EMRETHY £2399%69 32,600 32,900 0.9 [TA1IEXIKRI+TE
FEHE)-1 FHEEN FESHMASATAE1737&14 25,600 25,300 -1.2
LFERE)-2 FHEEN FEHMEEFTE/A2323%22 28,700 28,500 —0.7
LFEHE)-3 HEEN FEEMAEFTRETH649E1 29,500 29,500 0.0
I AR BEERISHAESRFHBP3915F 25,100 24,600 -20
FIH(E)-2 BEERIIHAES RFAB2510F 1 20,000 19,700 -15
FEAH(E)-3 FAAEMISAHBLIEFFE10178S 13,200 13,000 -15
MEESER)-1 | HeE RSB EN AT FTEFRIA888%ES3 18,300 17,800 27
AERE(RE)-2 |HAEEMmBEBEmATR)IFEFMO0256%60 21,200 20,600 -2.8
MEBBHE)-3 |[F4EABERENMAFHA1TH148% 30,700 30,100 -20
AHh(IE)-1 A ENAHBI AT AT EIF684F 1 19,400 19,200 -1.0
Ah(E)-2 HAEBRBAMBTAFAMFIES4170F 17,800 17,300 -2.8
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HEEI(E)-1 HEAERTEIIN=EIFE/ 2462512 - 4,960 -|R1:ZEEE
HEEJ(E)-2 HEEERHEE)IBTEE)IFHR116F 8,180 8,120 -0.7
HEE)I(8)-3 HEEMGE)REShFEE2 FTE187&1 20,500 19,900 -29
bR )-1 REEMUNKXKFRBFHE196FE 9,900 9,700 -2.0
EARE)-1 HEEMEAATFEL218E 25,600 25,900 1.2
BEARR)-2 HAESEEAAHIRT E#1703%& 14 23,900 24,000 0.4
EAR(R)-3 HEEMBAREAR2200F 24,100 23,200 -3.7
Eih B A
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HEMBES HEMDORERVUMBLEVIIERRT &R,/ ) | fEAs R, ) EEIE%) B&
FERL(E)3-1 MFLTHETF4)1280%F 14,000 14,000 0.0
FFL(E)3-2 ML D FEEZ328F 18,800 19,000 1.1
EHR)3-1 AHTREESFATA551E 13,800 13,700 —0.7
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FIL(E)5-1 % |FnFuth kAR5 T B50&45} 438,000 441,000 0.7 |EEMES Mg
FFrL(E)5-2 MFUTTERI4TEHSS 152,000 153,000 0.7
FFL(E)5-3 MFLH=EFkEE344F 45 115,000 115,000 0.0
FFR (IR )5-4 MFLT+—FT43E 128,000 130,000 1.6
FFL(E)5-5 I LT A KRIAT6ES 135,000 135,000 0.0
FFL(E)5-6 MFLHEEET2TH1E 124,000 124,000 0.0
IR )5-7 IR IDEH/A193F 154 46,500 46,500 0.0
FFRLLI(E)5-8 LT AH2TE13%8IAH2—13—12] 190,000 191,000 0.5
FFL(E)5-9 MFLUHEREAISTHE37E 136,000 136,000 0.0
MILE)S-10  [F1guli AR TH29% 14+ 140,000 141,000 0.7
FMIL(E)S5-11 | FFUdtHFEEE409F 245 53,400 53,400 0.0
MIL(E)5-12  [FnFldiRERAFIE/O084F4 72,800 72,600 -0.3
MIULE)S-13  [FFLTEEER/T267584  BEH/T1—47] 82,500 81,900 -0.7
MIL(E)S-14  [fF1gnlhXERST H3E6 195,000 196,000 0.5
FFLE)5-15* [FuFritich > EFFEIEN673F9s5t 110,000 111,000 0.9
MILE)S-16  [FTLTiFNFERESE 142,000 143,000 0.7
FFL(R)S5-17 [FZudi/NEE3TH140F 16/ /N B3 —5—31] 125,000 125,000 0.0
AR (R)5-1 BEHERTHEEN11E14 - 64,700 —
EE(E)5-2 ERETREFHEE186%56 63,000 61,400 -25
BARUR)5-1 BATER6THE338%5HEK6—1—11 85,600 84,300 -15
BARR)5-2 BATBEHTHEF = /B1119%6 48,500 48,200 -0.6
BARUR)S-3 BATEHFOMEAEFTHEAKRZ 17981 40,600 39,800 -20
HHR)5-1 AHETEETFIIH20%ES 47,100 45,500 -3.4
fEILA (I8 )51 MY TETERI7E 1M 49,500 48,500 -2.0
H (18 )5-1 HATTFEBFEK363F145 83,900 83,700 -0.2
HiI(8)5-2 A EDWL2TE1149%111 EDIL2—15—19] 45,000 44,800 -0.4
H30(18)5-3 A EREM814F 2/ EHEM14—24] 73,000 72,900 -0.1
FE(R)5-1 FeEmTFR1 THES33&E3MN FiE1—1—45] 69,700 69,000 -10
FE(E)5-2 FEhREF EEF7640F4K - 60,000 -
F=E(R)5-3 FETEBFIREREI75%55 44,200 44,000 -0.5
L DJIE)5-1 DN ARETRDOL4ET 39,300 38,600 -1.8
L DJIE)5-2 RONHAEHEER784F 75 - 38,100 -[RLEES
£ DJIE)5-3 Lo)IHEFEHIEFFB64E1 29,400 28,800 -2.0
L DJIE)5-4 EoJIHEEIBHHEEE /fi22081KH - 31,300 -RIEES
EH(R)5-1 BHTEKEFH364EF4 68,500 68,500 0.0
BH(E)5-2 EHTAEBFEEA131F1 75,500 75,500 0.0
M OLE(R)S5-1  |[FHB,H O AFH AT EIES 10656 33,500 33,000 -15
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=5 (E)5-1 FHBEHFHAFEHLF/IHEA767E1RA 83,100 82,300 -1.0
Hi ()51 AEES AT B EFEF2328%3 43,400 42,100 -3.0
HRIJIE)5-1 HHEBAR)IBTAFEATILIERN2415F9 32,000 31,000 -3.1
EHIIN(E)5-2 FHBER)IIFAFXETERAERAT201F 15 62,100 61,600 -0.8
AR (E)5-1 HE AR EFHETEY258%F 1 39,000 38,400 -15
HEJI(E)5-1 BEABE)IMKAE/NEFAIR2407F 10 30,100 29,700 -1.3
HE(R)5-1 A E A ERF LIE890%ES884} 78,800 78,800 0.0
+FEHE)5- LB S HATEEFTAB2459% 13 32,600 32,100 -15
MEBHRE)S-1 [ FLERBEREMAFIEITR16%E 34,100 33,400 -2.1
AR (8 )5-1 RAEME AR KT h#E1735%F9145 35,900 34,800 -3.1
I

5 o 5 = . HTR(= — FRI0E | RHTE | gy

HEMES HEMDRAER VB VNIFERRT &R,/ | s, ) EEIE%) =
FOFRLLI(IR)9-1 AU FEBEATE17885/FH4—4—9] 27,000 26,600 -15
FFL(E)9-2 I FEEFH)IIE/F1660F 774 23,600 23,300 -1.3
BRI (R)9-1 ERETHAFEHE1294%21 22,300 22,300 0.0
BARUR)I-1 BATABAFREAM1182F5 24,400 24,200 -0.8
fEIEA ()91 T EEF)IH176%4 20,300 19,700 -3.0
H3(18)9-1 HIm T EERR1475%974) 13,200 13,200 0.0
= (E)9-1 HEtHFIEN5532% 1385 HIFIFN5—53] 17,600 17,400 -1.1
FDIJIE)9-1 EOJTEBAFEFI1079EF 105 14,700 14,700 0.0
Mith
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HEMBE HEMDFRERVE fifik& fifi& EEIFE%) B&
(H/107—)[(H/107—L)

FOFRLL(FK)-1 NPT EEFHHR1163F 873,000 840,000 -3.8 | BRI XE ki
FFRLLI#K)-2 M R/ IFER1291F1 10,300 10,300 0.0 |MEXRBG#Hih




